
Section  1.1

Worksheet

Precalculus Name

Period

1.  Write the equation of the line containing the points  (-2,5)  and  (4,-2)  in point-slope
form.
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2.  Write an equation that is pej=aJJe± to 3X + 4J; = 8 and passes through  (-2,5)-.
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3.Writeanequationthatisperpendicularto3x-4y=13¥n€#ss=slhHrough(-1,1)

vA=Z     lm=-#`

`1

4X +3y ;--`



Difference Quotient
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Find the Difference Quotient and simplify the answer for each of the following functions.

1.    /(x)=5jx2+7x-6
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Difference Quotient
Practice 3

Pre cal culus/Trig               Name
Period

Find the Difference Quotient and simplify the answer for each of the following functions.

1.    /(x)=2x2-4x-9
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